Emission of carbon dioxide (CO2) Y Packaging
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i Wik 1 28.7196 24,6168 24,6168 30,9288 28.7196 28.7196
——Week 2 28.7196 24.6168 24,6168 30,9288 26.5104 30.9288
== Week 3 24,6168 20.514 24.6168 30,9288 26.5104 30.9288
== eek 4 28.7196 20.514 22.092 28.7196 26.5104 28.7196
Emission of carbon dioxide (CO2)
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—=—Week 1 35.928 33.5328 27.944 38.3232 31.1376 33.5328
== \Week 2 36.3272 31.1376 29.94 38,3232 36.3272 33.5328
= Week 3 36.3272 31.1376 29.94 39.1216 31.1376 33.5328
e Wif2ek 4 36.3272 31.1376 27.944 39.1216 31.1376 27.944




Emission of carbon dioxide (CO2)
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——Week 1 52.9984 45,4272 40.768 57.0752 45,4272 45,4272
—l—\\eek 2 52,9984 45,4272 45,4272 57.0752 45,4272 438.9216
—e=\Week 3 52.9984 45,4272 45,4272 48,9216 45,4272 43,9216
e aek 4 43,9216 45,4272 45,4272 43,9216 52,9984 45,4272
Emission of carbon dioxide (CO2)
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——\leek 1 67.1748 55.979 62.3766 78.3706 55.979 62.3766
=\ eek 2 67.1748 55.979 62.3766 78.3706 51.9805 62.3766
—de—=\Week 3 67.1748 62.3766 62.3766 72,7727 51.9805 55.979
i eek 4 67.1748 62.3766 67.1748 78.3706 55.979 55.979




